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QUESTION 1

When configuring firewall filters, which function does the interface-specific parameter enable on an EX Series switch? 

A. The interface-specific parameter is required to configure port-specific counters. 

B. The interface-specific parameter is required to configure VLAN-specific counters. 

C. The interface-specific parameter is required to configure VLAN-based filters. 

D. The interface-specific parameter is required to configure port-based firewall filters. 

Correct Answer: A 

 

QUESTION 2

What are two characteristics of IS-IS CSNPs? (Choose two.) 

A. IS-IS CSNPs contain header information for all link-state PDUs. 

B. IS-IS CSNPs are used to request a copy of a missing link state PDU. 

C. IS-IS CSNPs are used to maintain the link-state database synchronization. 

D. IS-IS CSNPs contain header information for specific requested link-state PDUs. 

Correct Answer: AC 

 

QUESTION 3

Click the Exhibit button. 
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You manage the Layer 2 network shown in the exhibit. You experience a failure on the ge-0/0/0 link between Switch-1
and Switch-2. 

Which statement is correct about the expected behavior? 

A. Switch-2 will remove itself from the RSTP topology 

B. Switch-2\\'s ge-0/0/2 port role and state will transition to root and forwarding 

C. Switch-2 will become the root bridge for a separate RSTP topology 

D. Switch-2\\'s ge-0/0/2 port role and state will remain as designated and forwarding 

Correct Answer: B 

 

QUESTION 4

In which two STP states is a port active and a MAC address learned? (Choose two.) 

A. blocking 

B. forwarding 

C. disabled 

D. learning 

Correct Answer: BD 
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QUESTION 5

Which statement about configuring persistent MAC learning is correct? 

A. Persistent MAC learning requires 802.1X authentication. 

B. Persistent MAC learning can be configured on access mode interfaces. 

C. Persistent MAC learning flushes dynamically learned MAC addresses on reboots. 

D. Persistent MAC learning cannot be configured on redundant trunk groups. 

Correct Answer: B 
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